French Horn (F) 2

Danses Concertantes

I. Stravinsky
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2. Pas d’Action
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3. Théme Varié

French Horn (F) 2

65

5]

66

6

67

— ——

MY

N

70

RS

RS

72

SN

Ne

e

MRV

LS

~

XX

ra3e

VAR. 1
Allegretto (J/=152)
4

74

75

76

77

S

78

79

R

SN

SN

BN

QO

P
)]

82

S1m.

«_
I
=

|, HEN

,

QO

XX

B

N

333

83

D)4 ¢

Ne

Ne

RS




(op]

French Horn (F) 2

85
i S A A 1 o — 1
r\'\‘g‘/’"‘:’_‘_,‘iﬁ\‘i N = Z§ ,7,7-3 -
fe e 4
34]95 — 1 [ ] l
SV : 1/ 7 = ?i' =
ry) 4
56 87|H=4 88
i 3 1 4 3 1
(o1 | — = — | —
() .
p
89
365 l D] l () ) l D] 2 ]
y = ()] = = —— (]
G % % %
oJ
90 VAR. II
366 Scherzando 4 = 100 91
: ., 3 1
(e = g — = o 73 £
o T \/c‘ .
f— f—
92 93 |allarg. A tempo 99 95
7 1 4 3 4 4
-@v = — = - eeee—— - —
oJ
96 97
395 4
S eeeeeeeeeee—————————————————— & * } — N y ,I‘,’ }
:)U T S —
sf p sf P sf
99
98 Meno Mosso @ =80
n 1 3 5
A T 1 = ——— = ————
"
oJ
p
100
101 |accel. poco a poco 102 | Tempo I J=100
“ 5 5

4
-




French Horn (F) 2

103 104
ﬂz 3 \ 2
oy I— e — I—N 17 K
) o fo e )

105 P i
430

9 1 Il\/_\ - u.+ A () )
b—— e il fye hpr 17
J f — |

f——— — _ pp
VAR. III

106 Andantino ¢"=104-108) (107 108 109 110

4? 4 4 4 4

|
|
|
|

111 112
o 4 1
'glk— = — — g — !O‘-_
o PPV gl PVies lesdeeies

p

113 114
“ 2 2 s
G Jong | — — ] e
¢ e trvreey veeey ¥ 4

115
. 116 117 118
5 4 4 5] 3
B —— e L e
Dl
488 Tempo giusto .=112) 120
o)
\\Q_)I Al . | ] Al | - ] | Al ] —

> > > > > > >
mf
121 122

“g 2 4 5
{n—% N 73 ———— | —
D)



French Horn (F) 2

124

123

506

Y e

125

511

Ve

Ve

Ve

Ve

126

516

\ o

[\ o/

128

127

523

.

129

]

130

Y £
A 0 )
[ @]

132

131

542

.

.

133

.

134

555




French Horn (F) 2

4. Pas de Deux
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5. Marche Conclusion
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